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RUTA 1 |Cotxe urba. Sentit antihorari 1 3| 3] 18:16] 18:39] 00:23 78 060€ 050€ 033€ 143€ 048§ 0,22 0,04 0,04 0,29 0,27, 9,05I 575 79 654 219
RUTA 1 |Cotxe urba. Sentit antihorari 2 3| 3 18:21] 18:39] 00:18] 10,0 | 050€] 0,33€ 0,83 €| 0,28 § 0,22 0,04 0,04 0,29 0,27, 9,02 575) 79 654 218
RUTA 1 |[Cotxe urba. Sentit horari 3| 3] 19:28] 19:52 00:24| 75 250€ 050€ 033€ 3,33 €| 1,11§ 0,22 0,04 0,04 0,29 0,27, 9,02 575) 79 654 218
RUTA 1 |Moto. Sentit antihorari 3| 3] 18:16] 18:32 00:16| 11,3 0,31€] 020€ 0,50 €| 0,17 § 0,12 0,02 0,01 0,14 0,14 4,66 294 24| 317 106
RUTA 1 [Moto. Sentit antihorari 3| 3] 18:16] 18:32 00:16| 11,3 0,31€ 0,20€ 0,50 €| 0,17 § 0,12 0,02 0,01 0,14 0,14 4,66 294 24| 317 106
RUTA 1 |Moto. Sentit antihorari 3 3| 18:23] 18:38] o0:15] 12,0 031€ 020€ o50€ o017 012 002 001 014 014 468 204 24 317 109
RUTA 1 |T. public Metro. Sentit antihorari 1 3,3 3] 18:16] 18:35 00:19| 9,5 0,28 € 0,28 €| 0,08 § 0,03] 0,01 0,00 0,04 0,02 0,51 51 11 63 19
RUTA 1 |T. public Metro. Sentit antihorari 2 3,3 3] 1821 1841 00:20| 9,001 0,21€ 0,21 €| 0,06 § 0,03] 0,01 0,00 0,04 0,02, 0,51 51 1 63 19
RUTA 1 |T. public Metro. Sentit antihorari 3 3,3 3] 18:25] 18:44 00:19| 9,5 0,21€ 0,21 €| 0,06 § 0,03 0,01 0,00 0,04 0,02 0,51 51 11 63 19
RUTA 1 |T. public Metro. Sentit antihorari 4 3,3| 3| 18:30] 18:50 00:20| 9,00 0,21¢€ 0,21 €| 0,06 § 0,03] 0,01 0,00 0,04 0,02 0,51 51 11 63| 19
RUTA 1 |T. public Metro. Sentit horari 1 3,3 3] 19:34]  19:52 00:18| 10,00 0,21 €| 0,21 €| 0,06 § 0,03] 0,01 0,00 0,04 0,02 0,51 51 11 63 19
RUTA 1 |T. public Metro. Sentit horari 3 3,3 3] 19:34]  19:52 00:18| 10,00 0,21 €| 0,21 €| 0,06 § 0,03 0,01 0,00 0,04 0,02 0,51 51 11 63 19
RUTA 1__|T. public Metro. Sentit antihorari 5 33 3[ 18:30] 18:50] 00:20] 9,00 021¢ 021€¢ o006€¢ 003 001 000 004 002 051 51 11 63 19
RUTA 1 |Taxi. Sentit antihorari 3| 3| 18:16] 18:35] 00:19 95 7,10 € 7,10 €| 2,37 § 0,22 0,04 0,04 0,29 0,27, 9,02 575 79 654 218
RUTA 1 [Taxi. Sentit horari 3| 3] 19:03] 19:17] 00:14] 12,9 6,30 € 6,30 €| 2,10 § 0,22 0,04 0,04 0,29 0,27, 9,02 575) 79 654 218
RUTA 1 [Bicicleta. Sentit antihorari 1 3| 3] 18:16] 18:33] 00:17 10,4 0,04€[ 0,00€ 0,04€ 0,014 0,00 0,00 0,00 0,00 0,00 0,05 0 7 7 2
RUTA 1 |Bicicleta. Sentit antihorari 2 3| 3] 18:21] 18:33] 00:12 15,0) 0,04€] 0,00€ 0,04 €| 0,014 0,00 0,00] 0,00 0,00 0,00| 0,05 0 7 7 2
RUTA 1 [Bicicleta. Sentit horari 1 3| 3] 1846/ 18:57] 00:11 16,4 0,04€] 000€ 0,04 €| 0,01 § 0,00 0,00 0,00 0,00 0,00| 0,05 0 7 7 2
RUTA 1 |Bicicleta. Sentit horari 2 3 3|  18:45| 19:01] 00:16 11,3 0,04€ 000€ 0,04€ 0019 0,00] 0,00 0,00] 0,00 0,00] 0,05 0 7 7 2]
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RUTA 2 |Cotxe urba. Sentit antihorari 1 2,9 29[ 18:39] 19:14] 00:35| 500 025€] 049€ 032€ 1,06€ 0,36¢€ 0,21 0,04 0,04 0,28 0,26| 9,02 556 77| 632 219
RUTA 2 |Cotxe urba. Sentit antihorari 2 2,9| 2,9 18:39] 19:05| 00:26] 6,7 020€ 049€ 032€ 1,01€¢ 0354 0,21 0,04 0,04 0,28 0,26 9,09 556 77 632 218
RUTA 2 [Cotxe urba. Sentit horari 2,9| 2,9 19:.05] 19:28] 00:23 7,6 049€[ 032€ o081€¢ 028 021 004 004 028 0,26 9,02 556 77 632 219
RUTA 2 [Moto. Sentit antihorari 2,9] 29 18:32] 1845 o0:13] 134 030€ 019€ o049€ o17qg 011 00 001 014 014 46 284 23 307] 106
RUTA2  |Moto. Sentit antihorari 2,9| 29 1832 1845 o0:13] 134 030€[ 019€ o49¢ o017 o1 002 001 014 014 464 284 23 307] 106
RUTA2  |Moto. Sentit antihorari 2,9 29 18:38] 18:59] o00:21 8,3 030 019¢ od9¢ o174 o1 002 001 014 o014 4689 284 23 307] 10
RUTA 2 |T. public Bus L16. Sentit antihorari 3,15 2,9] 18:35] 19:09] 00:34 51 0,28 € 0,28€ 009 009 o001 00 o011 o410 328 229 13 242 77
RUTA 2 |T. public Bus. Sentit antihorari 2 1,8 29 18:41] 19:10] 00:29 6,00 0,21€ 021€ 0,114 0,05 0,01 0,00 0,06 0,06 3,28 131 7 138 7]
RUTA 2 |T. public Bus. Sentit antihorari 3 1,8| 2,9 1844 19:10] 00:26| 6,7] 0,21€ 021€¢ o111 005 001 000 006 006 328 131 7 138 77
RUTA 2 |T. public Bus. Sentit antihorari 4 1,8 2,90 18:50]  19:16] 00:2¢] 6,71 0,21¢] 021€ 0,114 0,05 0,01 0,00 0,06, 0,06 3,28 131 7] 138 77
RUTA2 [T public Bus. Sentit horari 1 2,2 2,9 18:56] 19:34] 00:38 46 0214 021€ 000 008 001 000 007 007 328 160 9 169 77
RUTA 2 [T public Bus. Sentit horari 3 2,2 2,90 18:47] 19:34] 00:47 37 0,214 021€¢ 000 006 001 000 007 007 32 160 9 169 771
RUTA 2 |T. public Bus. Sentit antihorari 5 1,8 29 18:50] 19:16/ 00:26] 6,71 0,21€ 0,21 €| 0,11 § 0,05 0,01 0,00 0,06 0,06 3,28 131 7 138 7]
RUTA 2 [Taxi. Sentit antihorari 2,9| 29 18:35] 1848 00:13 134 590¢€ 590€ 2034 021 004 004 028 026 9,0 556 77 632 218
RUTA2  [Taxi. Sentit horari 2,9| 2,9] 1840 19:03 00:23 76| 9,55€ 955€ 3204 0,21 004 004 028 026 9,0 556 77 632 218
RUTA 2 |Bicicleta. Sentit antihorari 1 2,9 2,9] 18:33] 18:44] 00:11 15,8 004€[ 000€ o0,04€ 0014 0,00 0,00, 0,00 0,00 0,00] 0,05 0 7] 7 2]
RUTA 2 [Bicicleta. Sentit antihorari 2 2,9] 29 18:33] 18:46] o00:13] 134 004€ 000€ 004€f o001 000 0000 000 000 000 0,05 0 7 7 2
RUTA 2 [Bicicleta. Sentit horari 1 2,9 2,9 18:36] 18:46] o00:10] 174 004€[ 000€ o04€ 0014 000 o000 000 000 0,00 0,05 0 7 7 2
RutA 2 _[Bicicleta. Sentit horari 2 2,9| 29 18:36] 18:45] o00:09] 193 004€ 000€ o004€ 001 000 000l 000 000 000 005 0 7 7 7
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RUTA 3 |Cotxe urba. Sentit antihorari 1 1,4 1,4 19:14] 19:28] 00:14 6,0 0,23€ 0,15€ 0,39€ 028§ 0,10 0,02 0,02 0,14 0,13 9,05I 268] 37
RUTA 3 |Cotxe urba. Sentit antihorari 2 1,4 1,4 19:05] 19:23] o00:1g] 470 0900€ 023€ 015€¢ 1,29€ 092€ 0,10 0,02 0,02 0,14 0,13 9,02 268] 37
RUTA 3 |Cotxe urba. Sentit horari 1,4 1,4 1843 19:.05] 00:22 38 015€ 023€ 015€ 054€ 0394 0,10 0,02 0,02 0,14 0,13 9,02 268 37
RUTA 3 |Moto. Sentit antihorari 1,4 1,4  18:45| 18:50 00:05| 16,8 0,14€] 0,09€ 024 €| 0,17 § 0,05 0,01 0,00 0,07 0,07 4,66 137 11
RUTA 3 |Moto. Sentit antihorari 1,4 1,4] 18:45] 18:50 00:05| 16,8 014€] 009€ 024 €| 0,17 § 0,05 0,01 0,00 0,07, 0,07| 4,66) 137 11
RUTA 3 |Moto. Sentit antihorari 1,4 1,4 1859 19:09 00:10| 8,4 0,14€ 0,09€ 0,24 €| 0,17 § 0,05 0,01 0,00 0,07 0,07 4,66 137 11
RUTA 3 |T. public Metro. Sentit antihorari 1 1,1 1,4 19:02] 19:21] 00:19 4,4 0,28 € 0,28 €| 0,25 § 0,01 0,00 0,00 0,01 0,01 0,51 17 4
RUTA 3 |T. public Metro. Sentit antihorari 2 1,1 1,40 19:10] 19:24] 00:14 6,00 0,21 €| 0,21 €| 0,19 § 0,01 0,00 0,00 0,01 0,01 0,51 17| 4
RUTA 3 |T. public Metro. Sentit antihorari 3 1,1 1,4 19:10] 19:24] 00:14] 6,00 0,21€ 0,21€ 0,194 0,01 0,00 0,00 0,01 0,01 0,51 17 4
RUTA 3 |T. public Metro. Sentit antihorari 4 1,1 1,4 19:16] 19:32] 00:16 53 0,21€ 0,21 €| 0,19 § 0,01 0,00 0,00 0,01 0,01 0,51 17| 4
RUTA 3 |T. public Metro. Sentit horari 1 1,1 1,4 18:45] 18:56] 00:11 7,6 0,21¢] 021€ 0,194 0,01 0,00, 0,00 0,01 0,01 0,51 17, 4
RUTA 3 |T. public Metro. Sentit horari 3 1,1 1,4/ 18:47] 18:57] 00:10 8,4 0,21€ 0,21 €| 0,19 § 0,01 0,00, 0,00 0,01 0,01 0,51 17| 4
RUTA 3 |T. public Metro. Sentit antihorari 5 1,1 1,40 19:16] 19:32] 00:16| 53 0,21€ 0,21 €| 0,19 § 0,01 0,00 0,00 0,01 0,01 0,51 17 4
RUTA 3  |Taxi. Sentit antihorari 1,4 1,40 18:48] 19:11] 00:23 3,71 5,65€ 5,65 €| 4,04 § 0,10 0,02 0,02 0,14 0,13 9,02 268 37
RUTA 3 [Taxi. Sentit horari 1,4 1,4 18:30] 18:40[ 00:10 8,4 4,15€ 4,15 €| 2,96 § 0,10 0,02 0,02 0,14 0,13 9,02 268] 37|
RUTA 3 [Bicicleta. Sentit antihorari 1 1,4 1,4 1844 1853 00:09) 9,3 0,02€ 000€ 002€ 001¢ 0,00 0,00, 0,00 0,00 0,00, 0,05 0 3
RUTA 3 [Bicicleta. Sentit antihorari 2 1,4 1,4]  1846] 18:56] 00:10] 8,4 002€[ 000€ o0,02¢ 0014 o000 000 000 000 o000 0,09 0 3
RUTA 3 [Bicicleta. Sentit horari 1 1,4 1,4 18:28] 18:36] 00:08] 10,5 002€ 000€ o002¢ o001 000 000 000 000 000 0,05 0 3
RUTA 3 [Bicicleta. Sentit horari 2 1,4 1,4 18:31] 18:36] 00:05] 16,8 002€[ 000€ o0,02€¢ 0014 000 o000 000 000 000 005 0 3
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RUTA 4 |Cotxe urba. Sentit antihorari 1 2,3 2,3 19:28]  19:42] 00:14] 99 250€ 039€ 025€ 314€ 137§ 0.7 0,03 0,03 0,23 0,21 9.0 441 61 501 219
RUTA 4  |Cotxe urba. Sentit antihorari 2 2,3| 2,3 19:23] 19:39 00:16| 86| 250€ 039€ 025€ 3,14 €| 1,37 § 0,17 0,03] 0,03 0,23 0,21 9,02 441 61 501 218
RUTA 4 |Cotxe urba. Sentit horari 2,3 2,3 18:23] 18:43] 00:20] 6,9 090¢€ 039€ 025€ 1,54 €| 0,67 § 0,17 0,03 0,03 0,23 0,21 9,02 441 61 501 218
RUTA 4 |Moto. Sentit antihorari 2,3 2,3 18:50] 19:02] 00:12] 11,5 0,23€] 0,15€ 0,39 €| 0,17 § 0,09 0,02 0,01 0,11 0,11 4,66 225 18 243 106§
RUTA 4 |Moto. Sentit antihorari 2,3 2,3 18:50] 19:03[ 00:13] 10,6) 023€ 0,115€ 0,39 €| 0,17 § 0,09 0,02 0,01 0,11 0,11 4,66 225 18 243 106§
RUTA 4 |Moto. Sentit antihorari 2,3 2,3 19:09] 19:16[ 00:07 19,7] 0,23€] 0,15€ 0,39 €| 0,17 § 0,09 0,02 0,01 0,11 0,11 4,69 225 18 243 106
RUTA 4 |T. public Metro L1. Sentit antihorari 1,5 2,3 19:21] 19:37] 00:16] 8,6 0,83€ 083€ 0559 0,01 0,00 0,00 0,02 0,01 0,51 23 5 29 19
RUTA 4  |T. public Bus. Sentit antihorari 2 1,7 2,3 19:24] 19142 00:18 7,71 0,21€ 0,21 €| 0,12 § 0,05 0,01 0,00 0,06 0,06] 3,28 124 7] 131 7
RUTA 4 |T. public Bus. Sentit antihorari 3 1,7 2,3 19:24] 19:42] o00:1g 7,71 0,21¢] 021€ 0,124 0,05 0,01 0,00 0,06, 0,06] 3,28 124 7] 131 77
RUTA 4 |T. public Bus. Sentit antihorari 4 1,7 23] 19:32] 1955 00:23 6,00 0,21¢ 021€ 012¢ 005 001 000 006 006 328 124 7 131 77
RUTA 4 |T. pablic Bus. Sentit horari 1 1,7] 2,3 18:16] 18:45( 00:29 4,8 0,21€ 0,21 €| 0,12 § 0,05 0,01 0,00 0,06 0,06| 3,28 124 7 131 77
RUTA 4 |T. public Bus. Sentit horari 3 1,7 2,3 18:25] 18:47] 00:22) 6,3 0,21¢ 021€ o012¢ 005 001 000 006 o006 328 124 7 131 77
RUTA 4 |T. public Bus. Sentit antihorari 5 1,7 2,3 19:32] 19:55 00:23| 6,00 0,21€ 0,21 €| 0,12 § 0,05 0,01 0,00 0,06 0,06 3,29 124 7| 131 7
RUTA 4 |Taxi. Sentit antihorari 2,3 2,3 19:11] 19:21]  00:10] 13,8 4,40€ 440€ 1914 0,17 0,03, 0,03 0,23 0,21 9,02 441 61 501 218
RUTA 4 |Taxi. Sentit horari 2,3 2,3 18:16] 18:30[ 00:14] 9,9 5,05 €] 5,05 €| 2,20 § 0,17| 0,03 0,03] 0,23 0,21 9,02 441 61 501 218
RUTA 4 |Bicicleta. Sentit antihorari 1 2,3 2,3 18:53] 19:01f 00:08 17,3] 0,03€[ 0,00€ 0,03€ 0,014 0,00 0,00 0,00 0,00 0,00, 0,05 0 6 6) )]
RUTA 4 |Bicicleta. Sentit antihorari 2 2,3 2,3 18:56] 19:03] 00:07| 19,7 0,03€] 0,00€ 0,03 €| 0,01 § 0,00] 0,00 0,00 0,00 0,00| 0,05 0 6 6| 7]
RUTA 4  [Bicicleta. Sentit horari 1 2,3 2,3] 18:16] 18:28] o00:12] 115 003€ 000€ o003¢ 0014 o000 000 000 000 o000 0,09 0 6 6| 2
RUTA 4 |Bicicleta. Sentit horari 2 2,3 23 18:21] 18:31] 00:10] 1338 003€ 000€ 003€ 0014 000 o000 o000 o000 000 00 0 6 6| 2
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Ajuntament de L'Hospitalet
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OLTA __]Cotxe urba. Sentit antihorari 1 9,6| 9,6] o1:2§| 6,7] 3,35€] 1,61€ 106€ 6,02€ 063€ _ 069 _ 012 0,13 0094 _ 0,87 _ 9,04 _ 1.839 253 2.093 218
VOLTA__ |Cotxe urba. Sentit antihorari 2 9,6 9,6 01:18 74 360€ 161€ 106€ 6,27€ 065€ 069 012 013 094 087 90 1839 253 2.093 21§
VOLTA |Cotxe urba. Sentit horari 9,6 9,6 01:29| 65 355€ 161€ 1,06€ 6,22€] 065€¢ 069 0120 013 094 087 90 1839 253  2.093 218
OLTA __ |Moto. Sentit antihorari 9,6| 9,6| 00:46] 125 000€ 0098€| 063€ 1,61€ 017€ 037 006 003 046 045 466 940 75]  1.015 10§
[VOLTA  |Moto. Sentit antihorari 9,6] 9,6] 00:47] 12, 0,00€ o098€ 063€ 161€ 017€ 037 006 003 048 0,45 4,64 940) 75|  1.015 108
OLTA __ |Moto. Sentit antihorari 9,6 9,6 00:53] 109 000€ 098€ 063€ 161€ 017€ 037 006 003 046 0,45 4566 940 75|  1.015 106
OLTA __|T. public Tot. Sentit antihorari 1 9,1 9,6 01:28 6,5 1,65¢€| 1,65€| 0,18€[ 0,13 0,03 0,01 018 013 147 321 34 354 39
VOLTA [T public Tot. Sentit antihorari 2 7,9 9,6 01:21 71] 0,83¢ 0,83€l 010€ 0713 0,03 0,01 017] 0,4 173 323 30 353 45
OLTA _|T. public Tot. Sentit antihorari 3 7,9] 9,6] 01:17] 75 0,83€ 0,83€ 0,10€ 013 0,03 0,01 017 0,14 173 323 30 353 45
VOLTA___|T. public Tot. Sentit antihorari 4 7,9 9,6 01:25 6,8] 0,83 € 0,83€l 0106 0413 0,03 0,01 017] 0,44 173 323 30 353 45
OLTA __|T. public Tot. Sentit horari 1 8,3 9,6 01:36] 6,00 0,83€ 0,83€ 010€ 014 0,03 0,01 0,18 0,5 181 352 32 384 46
OLTA _|T. public Tot. Sentit horari 3 8,3] 9,6] 01:37] 59 0,83€ 0,83€[ 0,10€ 0,14 0,03 0,01 0,18 0,5 1,81 352 32 384 46
OLTA __|T. public Tot. Sentit antihorari 5 7,9) 9,6| 01:25] 6,8 0,83€ 083€ o010€ 013 003 0,01 017 014 173 323 30 353 45
OLTA __[Taxi. Sentit antihorari 9,6| 9,6| 01:05] 8.9 23,05 23,05€ 240€ 069 012 013 094 0,87 90 1839 253  2.093 218
OLTA __[Taxi. Sentit horari 9,6] 9,6 01:01 9,4] 25,05 €| 2505€ 261€ 069 012 013 094 087 909 1839 253 2.093 21§
VOLTA_ [Bicicleta. Sentit antihorari 1 9,6 9,6 00:45] 12,8] 000€ 0,14€ o000€ 0,14€ 001€ 000 000 0,01 0,01 0,01 0,05 0 24 24 2
OLTA _ [Bicicleta. Sentit antihorari 2 9,6/ 9,6/ 00:42) 13,70 0,00€ 0,14€] 0,00€ 0,14€ 0,01 € 0,00 0,00] 0,01 0,01 0,01 0,05 0 24| 24 2
[VOLTA  |Bicicleta. Sentit horari 1 9,6] 9,6] 00:41 14,00 0,00€ o0,114€ 000€ 0,14€ 001€ 0,00 0,000 0,01 0,01 0,01 0,05 0 24 24 E
OLTA__[Bicicleta. Sentit horari 2 9,6 9,6 00:40 144 000€ 014€ o000€ 0,14€ 0016 000 0,00 0,01 0,01 0,01 0,05 0 24 24 P |
Metropoy FULE | Sostenibilitat
A
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